HOW\LUOOf \L @g

v
NO
ot T 9| S Tade g gy
/;(Ld—k- " “T’Z‘ﬁ’t G
T2 (g %)
qg& Ak —k"&o ~\5 4(‘3*’5\ 4 (%,&?b
1
%é G‘[\*D\ Cn@k’é (()Ur'l\—}
- q(,)g/”z)(—x—ﬁ% Lokt "“{)*7’%*%_\#6 -
| /&% 2~ ‘:Jﬂ x\5
_ T (g 0\ (o)
<D ~ (%4(5\ x 5 (y=Dy
(«5*5\ (¥~5)
e =g PSS
I
e A O NG DI
-,[7-—37‘ (—&*3\ (« ] ’)L-: §
\/® (3’-

ng\ MA.\\\Q&@,?\ and "D\\mhf% %zomﬂ E\afm&srw\g va\f\os

_E__\_Q' Q«v\?\‘ﬁd :
5
3, 5
2) - _ ,
(x+2) WY, =2 2

N AL ' & ‘ |5

Bt~ ok



E ?}f_ = = \mié %&‘u«a \a:] a Wawhar
= = 'L_r)(,«%’?—zs ')C-u\x-% 3o —(\,\, o
_ 2y Z oY= o
= ’U_TA‘_‘%:;S = _ %;.__ ] _\___l}_
e — s~z ° 5
Kol 2 - 2
) 774“6“{( 2 = Z"3> T¢
%
N I S
] @
T %"‘P\Q‘J
8{2;\6’%*’}33\ o 4(72‘2 _4,&_8
A 0 S 4
- g —ex+33 '78’_4%
QA b JON )
(RNt +4) M A
. (P 3D ac (-~ -2

e N X DD  edl_ :
= (L’*W%‘t\ AVM—\(X—&-§>ﬂ = 8——/746%*“

(2~ Rdbon and Sloedion & Reiorad  Brerescing

-(‘ NH& ™ \‘\owtuo(\c \fﬁ‘ Z
\_(_L.’blﬂ?c 1%, 271, 5(29) 2% 39, 271, > ]




N\u%\‘(:&‘\m&'m\‘- > . AV_ - A

-1 3 A 2+8 0
N&ﬁ.@(\: "6— X -5‘ - 5 = @
‘DRMW\?NSbf
Mo\‘\o n. L_Q_aﬁ,‘\‘ COW\W\OA )
N ] ESTEE
i 2/5
- %(7\—\ ~ 905
=~ A _\_9_ PR AN :2.7’\_
T > 25 35
4
fven  — & L - =1 _ﬁ -
A v G - e
JCOW\.MQ
Ex 2 - 3-\0 lwﬂ |
= &5 xS NS r\c+5 \L*5 uun%
V?;GJ(\\ afQ coerC‘Y
Ex v S 2
- A\ A\
_ AR
- &
£ x- Ty By
- Yx A Yx&
- ”(\ 2y - -5 — Sy
N Vo SO L =5y~
wek Wi W* A LA—H\-
’73 -5 6 */‘ _lﬂ AN ,1
- U(\"A‘" i U(\M
"l ~2 \s t\wrs — o —
(Mag“&\ Not de-uf&'—r% WK 4 "3*4 kﬁgj— o

QW+t



Exphe Ped= b0 o8 cludy fotn o

CAMNOA_ é&v&vm /\d@/

"1 _ \;\_i ch.o C"O
R
a W 5,\ fg:w\
(3T 2 (% N
DU -C SR - 4 g \’“ s
o T G »0
. By - & LCD AL ©
E_ﬁ (o¥?* Ai’)(
_ oy [ ol
s _,\ ’2_;\,\ o

A%
2%)
) ks S \Oy ’%% C\o
= ’\’,lﬁ;’ TR \ \21C

NA~ loode A

G i ) gt Theee &9

E_‘L: ) MNWOA V\GVV\‘ /\OJUf
= < T AX .
£ X\
) G . S (_,‘_\
= \('_A: A(._;\é_;&
- X -
(o —i"\"\/ = —f&’/* X — 4
~ —% X =%
) L% =\ B Y
- N — 4 ~ —4- K =%




§ 9.
Ty x oot ) (1 -8)

=8 e
2 <?L =2
T ~-B Yo el
2~ _ X 8
* g\ « (=8
. | 202 _x +8
- ~ (v—8>
Ty > G
A _ Lo (K-3
— —= co: C B(’WC*SB
i OB
- ~ -2 /5(_.\_6 NS K=3

\

2 S =X +\Q — % DS
(F3) (FED T )= ) N
r@
= /
\ (=D




